mean # PXL hits vs eta

<pixel hits>

Ratio

+

=

'_\
]
-
-~ F

_____ S ST N SRS S oS
ﬂ. m*lp“M.si‘“*““g:‘*".ﬂﬂ#“*

=
-
- L
-4 L
-9 L

n

-1 0 1 2 3

| mean # PXL Layers with measurement vs eta

<pixel layers>

Rati

0.95

! w
a_w o b
[
h

N

=
ul
I

o
[4)
I

OJ-.LQ_IIII

N
I

T

.....................................................................

PSSR S
++++I+ ¢ +"I++***"+*I+**+++*++ A II++++
-2 -1 0 1 2

-3

mean # STRIP hits V|

<strip hits>

Ratio

14k

1

1

0.

0.

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
kFitNewDUP1000time__ RECO

R IS R S A T
B + : : : +
o s 1

04"

—«— DQM_V0001_R000000001__Global__m

Pl

i : : I++E + :
o *++ ...... .++++ﬂ++++++ ....... + + .....

8

>

<strip layers

Ratio




	Contents
	Page 1


